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AA-1314
(007) B.Com. (Part-I) (10+2+3)
Term End Examination, 2021-22

BUSINESS MATHEMATICS
(Group-II) (Paper-I)
Time : 3 hours] [Maximum Marks : 75
A [ARITTAR T AT | G B S 3 alledl Y Sk &
Note : Answer as Directed. The figures in the right hand margin indicate marks.
FHE-1 / Unit-1
1. SO fafer aRT & wioiu— 15
Solve by cross multiplication method :
Sx +2y =16
Tx —4y =2
ar/OR
TF 2R BB QIR R A @liesT aedr &1 a8 5760 X a9 & |endt © | 369 9 20
TELAT T T DI T & | 6 & Md T 360 T faes 990 &0 md 240 X © 1 g8 96 & 22
3 o faarg wsfia &1 18 % ufq & oy WX 991 Anedn & | 98 9 &0 % 98wt by @ e
FEgall 1 faa # F@ear 2, S8 foeaer fasr e anfew fF sifereras @y &r )
A dealer wishes to purchase a no. of fans and sewing machines. He has only 5760 % to invest
and has space for at most 20 items. A fan costs him ¥ 360 and a sewing machine ¥ 240. His
expectation is that he can sell a fan at a profit of Rs. 22 and a sewing machine at a profit of
% 18. Assuming that he can see all the items that he can buy, how should he invest his money
in order to maximize his profit ?
S1E-11 / Unit-—I1
2. (a) IATHE & (el U YhRI I FHSATST | 5
Explain any five types of matrix.
(b) fag =ifm— 10

Prove that :
xX+a x+b x+c

y+a y+b y+c|=0
z+a z+b z+c

Iqr/OR

[P.T.O.]
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3.

A ST ll— 15
Find the value of :
(6 - 45)° x (-00034)""
(9-37)* x(8-93)"*
TerE-111 / Unit—III

(a) AT & I SETEL0T Aled TS | 7
Explain effective rate of interest with example.

(b) 450 % T 12% a1t aX & 3/4 U T Aehd g AT ST HITT ATG STFTOT T & | 8
Find the compound interest on ¥ 450 for 3/4 years @ 12% per annum if interest is payable
quarterly.

IgEar/OR
(a) it | ST FT U &7 39D THR l Id18T | 7

What is meant by Annuity ? Discuss its various types.

(b) HE THT TR T T 3T FHAM: 1308 T 3T 1320 T 1 37 a1ftich fhgai & e &l 1 | Tehgfeg
T 10% aTitieh ol &% & AT 147 | fohd=T T SUR of T8 oY? 8

A sum of money was borrowed and paid back in two annual instalments of ¥ 1308 and ¥
1320 respectively. The rate of compound interest was 10% per annum. What sum was
borrowed ?

TFHE-1V / Unit-IV
(a) 405 foenfert & ueh icrst § Al qaT ASihAl & Q&1 § 7 : 2 &1 A4 & | IiS qsihal o
@ 50 I AT AR TSeh! AT ASFRAT T U 3 : 1 & AT T TSh! ol G § heg Ty | 7

In a college of 405 students the ratio between the number of boys and girls is 7 : 2. If the
number of girls raised by 50 and the ratio of boys and girls comes to be 3 : 1, then find the

increase in the number of boys.

(b) TH HR@M | 6 AfHeF 3118 Tue yfafeT HM &b 4 Bred 20 7 § a9 € 1 afe 9 sifve ufafes
TH G HH B Al 6 BIEHh {oha & § T Fehil ? 8

In a factory 6 workers, working eight hours a day manufacture 4 gates in 20 days. If 9

workers work ten hours a day, in how many days will they manufacture 6 gates ?
Jgqr/OR

(a) |7 2010 I 3r9em § 2020 & fhl 25% HA @I | F] 2021 1 feshl o iaerd aeg-r ey
fo % |97 2010 & TR & AT ? 7
The sales of 2020 was 25% less in comparison to the sales of 2010. By how much

percentage the sales of 2021 should be increased so as to equate with the sale of 2010 ?
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(b) 8 IHUT ! STHA ATY 2 IW I AN & 5T I7H 4§ &l & €& I ForTehl 39 20 a9 qer 24 99 &, &

aigareT o W forar Trar 2 | iedrsti & SiHd 39 &1 82

8

The average age of 8 men is increase by 2 years, when 2 of them, whose ages 20 and 24

years are replaced by 2 women. What is the average age of the women ?
THE-V / Unit-V

5. SATARIT ATAATT FHEIT I AR Alhe [dTe & & i — 15
Solve the following transportation problem with Vogel’s Approximation method :

(Destination) Eﬁ

I)1 1)2 I)3 1)4

(Supply)
I (Origin)
0, 10 8 11 7 20
0, 9 12 14 6 40
(OR 8 9 12 10 35
16 18 31 30 95
FYA/OR

(1) e AT STA AT Pl 63 T  20% 3ATereh T T4 &, T ATehi B 10% B W ol & | 34

YR I 2400 3 T TH AT & | A& hT o Jarey |

7

A trader charges the price of his goods 20% above the purchase price but allows 10%
discount to his customers. Thus he earns a profit of ¥ 2400. Find the actual purchase price.

(2) ferdT & =T 20% MRS ATBR TAT 5% & AUBR 4 & d1g 395.20 I | &= T | T8 A

Gl I 1 BT |

8

After allowing 20% trade discount and 5% cash discount a commodity was sold for ¥ 395.2.

Find the list price of that commodity.

4000




